Model 1: OLS, using observations 1-72

Dependent variable: v1

Coefficient | Std. Error t-ratio p-value
const 6.43045 6.11499 1.052 0.2974
V2 —0.431641 | 0.480093 —0.8991 0.3723
v3 —0.769767 | 0.495861 —1.552 0.1260
v4 1.04664 0.604446 1.732 0.0887 |*
V5 —0.640628 | 0.481480 —1.331 0.1885
V6 0.514642 0.731188 0.7038 0.4843
V7 0.574649 0.604183 0.9511 0.3455
v8 —0.318648 | 0.411583 —0.7742 0.4420
v9 0.890267 0.681001 1.307 0.1963
v10 0.106849 0.722383 0.1479 0.8829
v1l 0.612577 0.611991 1.001 0.3210
v12 0.108266 0.410860 0.2635 0.7931
v13 2.30272 0.870231 2.646 0.0105 |**
v14 —0.284512 | 0.387005 —0.7352 0.4652
Mean dependent var 33.33333 S.D. dependent var 14.16701
Sum squared resid 5131.019 S.E. of regression 9.405629
R-squared 0.639928 Adjusted R-squared 0.559223
F(13, 58) 7.929162 P-value(F) 8.91e-09
Log-likelihood —255.7537 Akaike criterion 539.5075
Schwarz criterion 571.3808 Hannan-Quinn 552.1963




